# Analytical solutions of a particular Hill's differential system

Nicolae MARCOV\*

\*Corresponding author University of Bucharest, Faculty of Mathematics and Computer Science, Str. Academiei nr. 14, sector 1, 0101014, Bucharest, Romania, nmarcov@fmi.unibuc.ro

DOI: 10.13111/2066-8201.2019.11.1.9

*Received: 13 December 2018/ Accepted: 02 February 2019/ Published: March 2019* Copyright © 2019. Published by INCAS. This is an "open access" article under the CC BY-NC-ND license (http://creativecommons.org/licenses/by-nc-nd/4.0/)

Abstract: Consider a second order differential linear periodic equation. This equation is recast as a first-order homogeneous Hill's system. For this system we obtain analytical solutions in explicit form. The first solution is a periodic function. The second solution is a sum of two functions; the first is a continuous periodic function, but the second is an oscillating function with monotone linear increasing amplitude. We give a formula to directly compute the slope of this increase, without knowing the second numerical solution. The periodic term of second solution may be computed directly. The coefficients of fundamental matrix of the system are analytical functions.

Key Words: linear differential equation, dynamic system, parametric resonance

# **1. PROBLEM FORMULATION**

Consider the following second order periodic linear differential equation with respect to real dimensionless time *t*.

$$\frac{d^2 z}{dt^2} + Q(t) z = 0$$
 (1)

In what follows we assume the coefficient Q to be a real positive bounded continuous periodic function with *t* real argument. The period of Q(t) equals  $\pi$ .

By the working hypothesis we admit the particular case.

$$Q = 1 + \frac{4k(5 - 6\cos^2 t)\cos^2 t}{1 - k\cos^4 t}, \qquad -0.25 < k \le 0.2$$
(2)

The set of solutions to *Hill*'s equation is two dimensional real space [1], [2]. The function x is a periodic solution, [3], [4].

$$x = \frac{1 - k\cos^4 t}{1 - k}\cos t, \qquad \frac{d^2 x}{dt^2} + Q \ x = 0, \qquad x(0) = 1, \qquad \frac{dx}{dt}(0) = 0 \tag{3}$$

The second solution to Hill's equation is described by *Floquet* theory. Let u be the derivative of solution x.

The x and u periodic functions check the next Hill's system, [5].

$$u = -\frac{1 - 5k\cos^4 t}{1 - k}\sin t, \qquad \frac{dx}{dt} = u, \quad \frac{du}{dt} = -Qx, \qquad x(0) = 1, \quad u(0) = 0$$
(4)

Each of functions *a*, *b* and  $\sigma$  depend on the parameter *k*.

$$a = \sqrt{1 - \sqrt{k}}, \quad b = \sqrt{1 + \sqrt{k}}, \quad \sigma = \frac{k}{4(a+b)} \Big[ 1 - k + (7 - 5k)\sqrt{1 - k} \Big]$$
(5)

The unknown  $y_p$  and  $v_p$  functions represent the periodic solution of the next non-homogeneous system.

$$\frac{dy_{\rm p}}{dt} = v_{\rm p}, \qquad \frac{dv_{\rm p}}{dt} = -Q y_{\rm p} - 2\sigma u, \qquad y_{\rm p}(0) = 0, \quad v_{\rm p}(0) = 1 - \sigma \tag{6}$$

The function *y* and its derivative *v* have the following expressions:

$$y = y_p + \sigma t x, \qquad \frac{dy}{dt} = v = v_p + \sigma x + \sigma t u$$

$$\frac{dv}{dt} = \frac{dv_p}{dt} + 2\sigma u + \sigma t \frac{du}{dt} = -Qy_p - \sigma t Qx$$
(7)

This function and its derivative represent a solution of the homogeneous Hill's system.

$$\frac{dy}{dt} = v, \qquad \frac{dv}{dt} = -Qy, \qquad y(0) = 0, \quad v(0) = 1$$
 (8)

Since the derivative of the following expression is zero, the functions x, u, y, v have the integral property.

$$xv - u y = 1 \tag{9}$$

Consequently, it results the Floquet's expression of the fundamental matrix, [5], [6], [7].

$$\Phi(t) = \begin{bmatrix} x & y \\ u & v \end{bmatrix} = \begin{bmatrix} x & y_p \\ u & v_p + \sigma x \end{bmatrix} + \sigma t \begin{bmatrix} 0 & x \\ 0 & u \end{bmatrix} = \begin{bmatrix} x & y_p \\ u & v_p + \sigma x \end{bmatrix} \exp\left(\begin{bmatrix} 0 & \sigma \\ 0 & 0 \end{bmatrix} t\right)$$
(10)

The problem is to prove the expression of the coefficient  $\sigma$  and to obtain analytically periodic solution  $y_p$ ,  $v_p$ .

## 2. EXPLICIT CHARACTERISTIC COEFFICIENT

Formulas (7) and (9) result in the non-homogeneous equation for  $y_p$ .

$$x(v_{p} + \sigma x + \sigma t u) - u(y_{p} + \sigma t x) = x(\frac{dy_{p}}{dt} + \sigma x) - uy_{p} = 1$$
(11)

Let *C* be the variable constant of integration.

$$y_{\rm p} = C x \quad \Rightarrow \quad \frac{dC}{dt} = \frac{1}{x^2} - \sigma \qquad C(0) = 0.$$
 (12)

where

INCAS BULLETIN, Volume 11, Issue 1/2019

$$\frac{1}{x^2} = \frac{(1-k)^2}{\cos^2 t} \left[ 1 + \frac{1}{(1-k\cos^4 t)^2} - 1 \right]$$
(13)

The derivative of function  $C_0$  is a singularity of function  $x^{-2}$ . The product  $C_0 x$  will be a periodic bounded function.

$$C_0 = (1-k)^2 \tan t, \qquad C_0 x = (1-k) (1-k\cos^4 t) \sin t, \qquad C_\sigma = C - C_0$$
(14)

Consequently,

$$y_{\rm p} = C_0 x + C_{\sigma} x \quad \Rightarrow \quad \frac{dC_{\sigma}}{dt} = \left\lfloor \frac{1}{x^2} - \frac{(1-k)^2}{\cos^2 t} \right\rfloor - \sigma \qquad C_{\sigma}(0) = 0.$$
(15)

Given the derivative of the geometric series we will have Taylor's series development.

$$\frac{1}{x^2} - \frac{(1-k)^2}{\cos^2 t} = \frac{(1-k)^2}{\cos^2 t} \left[ \frac{1}{(1-k\cos^4 t)^2} - 1 \right] = k(1-k)^2 \sum_{n \ge 0} (n+2)k^n \cos^{2+4n} t \tag{16}$$

The first expression of the characteristic coefficient will be

$$\sigma = \frac{2}{\pi} \int_0^{\frac{\pi}{2}} \left[ \frac{1}{x^2} - \frac{(1-k)^2}{\cos^2 t} \right] dt = \frac{2}{\pi} (1-k)^2 \int_0^{\frac{\pi}{2}} \frac{2k\cos^2 t - k^2\cos^6 t}{(1-k\cos^4 t)^2} dt$$
(17)

By integrating term by term the above function, we obtain the second expression of  $\sigma$ :

$$\sigma = k(1-k)^2 \sum_{n\geq 0} g_n k^n, \qquad g_n = \frac{2}{\pi} (n+2) \int_0^{\frac{\pi}{2}} \cos^{2+4n} t \ dt \tag{18}$$

The recurrence relation of constant coefficients  $g_n$ , has the following expression.

$$g_0 = 1, \quad g_{n+1} = \frac{(n+3)(4n+3)(4n+5)}{8(n+1)(n+2)(2n+3)}g_n$$
 (19)

The convergence velocity of the series is acceptable for low values of parameter k.

## **3. SECOND EXPLICIT SOLUTION**

The functions b and a depending on the k parameter, according to formulas (5), verify the following identities:

$$a^{2}b^{2} = 1 - k, \quad a^{2} + b^{2} = 2, \quad b^{2} - a^{2} = 2\sqrt{k}$$
 (20)

We make the change of the variable of integration.

$$s = \tan t, \qquad \frac{1}{x} = \frac{1-k}{\cos t} \frac{1}{1-k\cos^4 t}, \quad \cos^2 t = \frac{1}{s^2+1}, \quad \frac{1}{x} = \frac{1-k}{\cos t} \frac{(s^2+1)^2}{(s^2+1)^2-k}$$
(21)

Hence

$$\frac{1}{x^2} = \frac{(1-k)^2}{\cos^2 t} \left\{ 1 + \frac{k}{(s^2+1)^2 - k} \right\}^2 = \frac{(1-k)^2}{\cos^2 t} (1+E)$$
(22)

INCAS BULLETIN, Volume 11, Issue 1/2019

where

$$E = \frac{2k}{(s^2+1)^2 - k} + \frac{k^2}{[(s^2+1)^2 - k]^2}$$
(23)

Taking into account equation (12), function h(s), is the solution of the following equation:

$$C(t) = h(s), \quad s = \tan t, \quad \frac{dC}{dt} = \frac{dh}{ds} \frac{1}{\cos^2 t} = (1+s^2)\frac{dh}{ds} = \frac{1}{x^2} - \sigma$$
 (24)

The function *E* is a rational function.

$$\frac{dh}{ds} = (1-k)^2 (1+E) - \frac{\sigma}{1+s^2}, \quad h(0) = 0$$
(25)

First of all, we check the following identities:

$$(s^{2}+1)^{2} - k = s^{4} + 2s^{2} + 1 - k = s^{4} + (a^{2}+b^{2})s^{2} + a^{2}b^{2} = (s^{2}+a^{2})(s^{2}+b^{2})$$
(26)

Analogously, we will have:

$$\frac{2k}{(s^2+1)^2-k} = \sqrt{k} \left( \frac{1}{s^2+a^2} - \frac{1}{s^2+b^2} \right)$$
(27)

Thus,

$$\frac{k^2}{\left[(s^2+1)^2-k\right]^2} = \frac{k}{4} \left[ \frac{1}{(s^2+a^2)^2} + \frac{1}{(s^2+b^2)^2} \right] - \frac{\sqrt{k}}{4} \left( \frac{1}{s^2+a^2} - \frac{1}{s^2+b^2} \right)$$
(28)

Finally, we rewrite (23) in the formula:

$$E = \frac{k}{4} \left[ \frac{1}{(s^2 + a^2)^2} + \frac{1}{(s^2 + b^2)^2} \right] + \frac{3\sqrt{k}}{4} \left( \frac{1}{s^2 + a^2} - \frac{1}{s^2 + b^2} \right)$$
(29)

On the other hand, we have identities:

$$\frac{d}{dt}\left(\frac{s}{s^2+a^2}\right) = \frac{1}{s^2+a^2} - \frac{2s^2}{(s^2+a^2)^2} = \frac{a^2-s^2}{(s^2+a^2)^2} = \frac{2a^2}{(s^2+a^2)^2} - \frac{1}{s^2+a^2}$$
(30)

The function *E* is the sum of two terms:

$$E = E_1 + E_2$$

$$E_{1} = \frac{k}{4} \frac{d}{ds} \left[ \frac{s}{2a^{2}(s^{2} + a^{2})} + \frac{s}{2b^{2}(s^{2} + b^{2})} \right]$$
(31)

The second term has the following expression:

$$E_2 = \left(\frac{k}{8a^2} + \frac{3\sqrt{k}}{4}\right)\frac{1}{s^2 + a^2} + \left(\frac{k}{8b^2} - \frac{3\sqrt{k}}{4}\right)\frac{1}{s^2 + b^2}$$
(32)

The solution of the differential equation (25) has two terms that check equations (33).

$$h = h_1 + h_2$$

$$h = h_1 + h_2, \quad \frac{dh_1}{ds} = (1 - k)^2 (1 + E_1), \quad \frac{dh_2}{ds} = (1 - k)^2 E_2 - \frac{\sigma}{s^2 + 1}$$
(33)

The solution of the first equation is:

$$h_{1}(s) = (1-k)^{2} \left\{ s + \frac{k}{8} \left[ \frac{s}{a^{2}(s^{2}+a^{2})} + \frac{s}{b^{2}(s^{2}+b^{2})} \right] \right\}$$
(34)

The argument of the second equation is the function *s* depending on  $t \in [0, \pi/2)$ .

$$h_2(s) = \frac{(1-k)^2}{8} \left\{ \left(\frac{k}{a^2} + 6\sqrt{k}\right) \frac{1}{a} \arctan \frac{s}{a} + \left(\frac{k}{b^2} - 6\sqrt{k}\right) \frac{1}{b} \arctan \frac{s}{b} + \right\} - \sigma \arctan s$$
(35)

The rational following function has the equivalent expression:

$$\frac{1}{a^2(s^2+a^2)} + \frac{1}{b^2(s^2+b^2)} = \frac{(a^2+b^2)s^2+a^4+b^4}{(s^2+a^2)(s^2+b^2)} = \frac{2(s^2+1+k)}{(s^2+1)^2-k}$$
(36)

Consequently,

$$h_1(s) = (1-k)^2 s \left[ 1 + \frac{k}{4} \frac{(s^2+1+k)}{(s^2+1)^2 - k} \right]$$
(37)

The first term  $C_1$  of the function C have the expression:

$$C_{1}(t) = h_{1}(\tan t) = (1-k)^{2} \left[ 1 + \frac{k\cos^{2} t}{4} \frac{1+k\cos^{2} t}{1-k\cos^{4} t} \right] \tan t$$
(38)

The  $y_p$  periodic solution of the equation (12) has a first explicit term  $y_{p1}$ .

$$y_{p}(t) = x(t) [C_{1}(t) + C_{2}(t)] = y_{p1}(t) + y_{p2}(t)$$

$$y_{p1}(t) = x(t) C_{1}(t) = (1-k) [1 + 0.25 k \cos^{2}t + (0.25 k^{2} - k) \cos^{4}t] \sin t$$
(39)

Derivation results in the explicit expression of the first term of the  $v_{p1}$  solution.

$$v_{p1}(t) = \frac{dy_{p1}}{dt}, \quad v_1(t) = (1-k)\{ 1 - 0.25k \left[2 + (4k - 19)\cos^2 t + 5(4 - k)\cos^4 t \right] \} \cos t$$
(40)

The first coefficients of the expression in formula (35) define the functions of parameter k.

$$\beta_1 = \frac{(1-k)^2}{8a} \left( \frac{k}{a^2} + 6\sqrt{k} \right), \qquad \beta_2 = \frac{(1-k)^2}{8b} \left( \frac{k}{b^2} - 6\sqrt{k} \right)$$
(41)

It is necessary to cancel the limit value of the function  $h_2$  (s) to infinity.

$$h_2(s) = \beta_1 \arctan \frac{s}{a} + \beta_2 \arctan \frac{s}{b} - \sigma \arctan s, \lim_{s \to \infty} h_2(s) = 0, \ \sigma = \beta_1 + \beta_2$$
(42)

We find the value (5) of the coefficient  $\sigma$ .

$$\sigma = \beta_1 + \beta_2 \equiv \frac{k}{4(a+b)} \Big[ 1 - k + (7 - 5k)\sqrt{1 - k} \Big], \quad a = \sqrt{1 - \sqrt{k}}, \quad b = \sqrt{1 + \sqrt{k}}$$
(43)

The solution  $h_2$  has the expression that will ensure the periodicity of the  $C_2$  function.

$$h_2(s) = \beta_1(\arctan\frac{s}{a} - \arctan s) + \beta_2(\arctan\frac{s}{b} - \arctan s)$$
(44)

The second term of the solution C has the expression

$$C_{2}(t) = h_{2}(\tan t) = \beta_{1} \left[ \arctan\left(\frac{\tan t}{a}\right) - t \right] + \beta_{2} \left[ \arctan\left(\frac{\tan t}{b}\right) - t \right]$$
(45)

This expression is correct for t in the range  $[0, \pi/2)$  and is the restriction of the next periodic integral function

$$C_{2}(t) = \int_{0}^{t} \left( \frac{\beta_{1}a}{1 + (a^{2} - 1)\cos^{2}t} + \frac{\beta_{2}b}{1 + (b^{2} - 1)\cos^{2}t} - \sigma \right) dt,$$
(46)

Let  $\gamma$  be the function:

$$\gamma(t) = \frac{\beta_1 a}{1 + (a^2 - 1)\cos^2 t} + \frac{\beta_2 b}{1 + (b^2 - 1)\cos^2 t} = \frac{k(1 - k)}{4} \frac{1 + (6 - 5k)\cos^2 t}{1 - k\cos^4 t}$$
(47)

Consequently,

$$C_{2}(t) = \int_{0}^{t} \gamma(t)dt - \sigma t , \qquad y_{p2}(t) = x(t) C_{2}(t)$$
(48)

Thus,

$$v_{p2}(t) = \frac{dy_{p2}}{dt} = u(t)C_2(t) + x(t)[\gamma(t) - \sigma]$$
(49)

The periodic solution  $(y_p, v_p)$  of the non-homogeneous system (6) is calculated according to formulas (38), (39), (47), (48) and (49).

The solution (y, v) of the system (8) will be

$$y(t) = y_{p1}(t) + y_{p2}(t) + \sigma t x(t), \quad v(t) = v_{p1}(t) + v_{p2}(t) + \sigma x(t) + \sigma t u(t)$$
(50)

#### 4. RESULTS

The analytical solutions of the differential system of formulas (4), (6) and (8) have the following expressions specified in the MATCAD program [8], [9].

The graphs in Figure 1 show the  $y_p$  and  $v_p$  periodic solution of the non-homogeneous system (6) and also the two additive components  $y_{p1}$ ,  $y_{p2}$ , and  $v_{p1}$ ,  $v_{p2}$ .

The numerical solutions of the system (4), (6) and (8) result from the second part of the program below.

$$\begin{aligned} Q(t) &:= 1 + 4 \cdot k \cdot \frac{5 - 6 \cdot \cos(t)^2}{1 - k \cdot \cos(t)^4} \cdot \cos(t)^2 \quad x(t) &:= \frac{1 - k \cdot \cos(t)^4}{1 - k} \cdot \cos(t) \quad u(t) := -\frac{1 - 5 \cdot k \cdot \cos(t)^4}{1 - k} \cdot \sin(t) \\ yp1(t) &:= (1 - k) \cdot \left[ 1 - k \cdot \cos(t)^4 + \frac{k}{4} \cos(t)^2 \cdot \left( 1 + k \cdot \cos(t)^2 \right) \right] \cdot \sin(t) \\ vp1(t) &:= (1 - k) \cdot \left[ 1 - \frac{k}{4} \cdot \left[ (2 + (4 \cdot k - 19)) \cos(t)^2 + 5 \cdot (4 - k) \cdot \cos(t)^4 \right] \right] \cdot \cos(t) \\ a &:= \sqrt{1 - \sqrt{k}} \quad b := \sqrt{1 + \sqrt{k}} \quad \sigma := \frac{k}{4 \cdot (a + b)} \left[ 1 - k + (7 - 5 \cdot k) \cdot \sqrt{1 - k} \right] \quad \sigma = 0.15840148 \\ y(t) &:= \frac{k \cdot (1 - k)}{4} \cdot \frac{1 + (6 - 5 \cdot k) \cdot \cos(t)^2}{1 - k \cdot \cos(t)^4} \quad C2(t) := \int_0^t y(t) \, dt - \sigma \cdot t \quad C2\left(\frac{\pi}{2}\right) = 6.8 \cdot 10^{-10} \\ yp2(t) &:= x(t) \cdot C2(t) \qquad yp(t) := yp1(t) + yp2(t) \qquad y(t) := yp(t) + \sigma \cdot t \cdot x(t) \\ vp2(t) &:= u(t) \cdot C2(t) + x(t) \cdot (y(t) - \sigma) \quad vp(t) := vp1(t) + vp2(t) \qquad v(t) := vp(t) + \sigma \cdot x(t) + \sigma \cdot t \cdot u(t) \\ \frac{yp1(t)}{yp(t)} = \frac{1}{4} \int_{0}^{1} \frac{1}{4 - 4} \int_{0}^{1} \frac{1}{$$

Figure 1. The graphs of the periodic solution  $y_p$ ,  $v_p$  of the system (6)

t

The  $\Phi$  fundamental matrix of the system (4) or (8) has the expression (10) of the matrix product of the periodic component P(t) and the matrix  $(I_2+Bt) = \exp(Bt)$ . B is nilpotent matrix.

$$\Phi(t) = P(t)\exp(Bt), \quad B = \begin{bmatrix} 0 & \sigma \\ 0 & 0 \end{bmatrix}, \quad P(t) = \begin{bmatrix} x(t) & y_{p}(t) \\ u(t) & v_{p}(t) + \sigma x(t) \end{bmatrix}$$
(51)

A linear differential equation of the second order has two solutions in general. There are equations without periodic solutions, equations with a single periodic solution as in the treated example or equations with both periodic solutions.

Knowing a periodic solution depending on the parameter k, the integral  $\sigma$  of the formula (17) was specified.

Depending on the explicit expression (5), if  $\sigma$  is different from zero, the second solution is not periodic.

Numerical x, u, y<sub>p</sub>, v<sub>p</sub>, y, v solutions are denominated in capital letters.

t



Figure 2. The graphs (X, U) and (Yp, Vp) show periodicity

The amplitude of the oscillations of the solution *y* increases proportionally to time *t*. It is important to integrate on the interval  $[0, 2\pi]$ , since  $y(t + 2n\pi) = y(t) + 2n\pi \sigma x(t)$ .

### **5. CONCLUSIONS**

The enunciation and theoretical demonstration of following propositions is the main contribution of the work. If Q(t, k) is a set of functions according to formula (2), then differential equation (1) has a periodic solution x(t) given by formula (3).

If the function  $\sigma(k)$  has the algebraic expression (5), then the differential system (6) has a periodic solution  $y_p(t)$ ,  $v_p(t)$ . The second fundamental solution y(t) of equation (1) has the structural expression  $y(t) = y_p(t) + t \sigma(k) x(t)$ , and the fundamental matrix of the general system (8) has the expression (10). It also shows that, after relatively laborious calculations, the algebraic function  $\sigma(k)$  is the value of an integral with the real k parameter.

The numerical calculation program shown in Figures 1 and 2 tests the truth of these propositions for the interval [0,2], in particular k = 0.2.

The second section begins the theoretical and constructive demonstration. The wronskian determinant of solutions x and y does not explicitly depend on Q. Given u = dx / dt and v = dy / dt we will obtain xv - uy = 1 for y (t) or linear equation (11) for  $y_p$  (t). The

homogeneous equation has the solution Cx(t). The method of variation of the integration constant requires  $y_p(t) = C(t)x(t)$ . The unknown function C(t) checks a singular equation (12) in the sense that  $x(\pi/2) = 0$ . The singularity is isolated, resulting in the expression  $C(t) = C_0(t) + C_o(t)$ . Although  $C_0(t)$  is periodic, unbounded according to (14), product  $x(t)C_0(t)$  is a periodic bounded function.

The term  $C_{\sigma}(t)$  must be periodic, otherwise  $y_p(t)$  would not be the periodic component of y(t). Derivative  $dC_{\sigma}/dt$  is a periodic function bounded according to (15). But it is known that the integral of a periodic function, is periodic, if and only if the mean value of the function is zero. Imputing this condition results in expression (17) of the coefficient  $\sigma(k)$ . This is an integral with parameter k.

Formulas (18) and (19) allow the calculation of  $\sigma(k)$  as the limit of a set of functions. In the third section the expression of the periodic component  $y_p(t)$  is determined.

With the change of the integration variable C(t) = h(s),  $s = \tan t$ , the equation (25) results. The function h(s) is the primitive of a rational function. By a decomposition in certain simple fractions, the need for expressing the  $h(s) = h_1(s) + h_2(s)$  function.

The  $h_1(s)$  function has explicit expression (37). It results  $C_1(t)$  and a first periodic  $y_{p1}(t)$  term of the  $y_p(t)$  component.

The restriction of the  $h_2(s)$  function has the expression (35) in which the coefficient  $\sigma(k)$  appears. For  $h_2(s)$  to be bounded at the infinite point, from (35), (41), (42) the algebraic expression (43) or (5) of the coefficient  $\sigma(k)$  results.

The  $h_2(s)$  function will correspond to the restriction (45) of the function  $C_2(t)$ . The extension of this function has the expression (46) as integral to the function  $\gamma(t)$  specified in (47). Knowing  $C_2(t)$  determines the second component  $y_{p2}(t)$  of the  $y_p(t) = y_{p1}(t) + y_{p2}(t)$  function.

In the fourth section there is a numerical program for testing the formulas given above.

For the exemplified case k = 0.2 the theoretical formulas are consistent with the numerical results. In the case of negative k values, the coefficients a and b are complex conjugates. The  $\sigma(k)$  coefficient is however real as identity has been demonstrated (43). The function  $\gamma(t)$  has also real values according to the identity (47). Finally,  $C_2(t)$  and  $y_p(t)$  functions has real values.

It is important to note that the graphs in Figure 2 are plotted by knowing only Q(t) and the algebraic expression of the  $\sigma$  coefficient.

#### REFERENCES

- [1] H. Brezis, Analyse fonctionnelle. Théorie et applications © 1983, Dunod, Paris.
- [2] Vo-Khac Khoan, Distribution Analyse de Fourier Opérateurs aux Derivées Partielles, (cours), Librairie Vuibert, Paris, 1972.
- [3] I. Paraschiv-Munteanu, D. Stănică, *Analiză numerică, Exerciții și teme de laborator*, Editura Universității din București, 2008, ISBN 978-978-737-501-8.
- [4] H. Brezis, Analiză funcțională, Editura Academiei Române, București, 2002, ISBN 973-27-0907-3.
- [5] R. P. Voinea, I. V. Stroe, Introduction in the theory of dynamical systems (lg. romanian), Ed. Acad. Române, Bucharest, ISBN 973-27-0739-9, 2000.
- [6] P. Kuchment, Floquet Theory for Partial Differential Equations, Birkhauser Verlag, 1993.
- [7] \*\*\* http://www.math.ubc.ca/~ward/teaching/m605/every2\_floquet1.pdf.
- [8] E. Scheiber, M. Lupu, *Matematici speciale*, Derive, MathCAD, Maple, Mathematica, Ed. Tehnică, București, 1998, ISBN 973 - 31 - 1193 - 7.
- [9] N. Marcov, Analytical solutions of the simplified Mathieu's equation, *INCAS BULLETIN*, Volume 8, Issue 1, (print) ISSN 2066 – 8201, DOI: 10.13111/2026-8201.2026.8.1.11, pp. 125-130, 2016.